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BCMEngFC5010 SeatNo:
B.Com. Semester - 5 (CBCS) Examination
Oct/Nov.-2019
ENGLISH LANGUAGE - 5(FOUNDATION)

Time: 2:30 Hours Marks: 70
Instructions:

1. All questions are compulsory.

2. Figures to the right indicate marks.

Que-3 (A)

Que-3 (4)

Que-3 (B)

Que-4 (A)

Write a short note. (Any One) (10)
(a) Strategics for doing business in Rural India.
(b) Routine of Jakhra, the snake charmer.
Answer the following in 5-6 lines. (Any Five) (20)
(1) What was the ‘other poison’ which killed Jakhra?
(2) How have regional brands innovated for the rural market?
(3) What makes Mangalyaan a considerable achievement?
(4) Why do some people criticize India’s space programme?
(5) How can you source the startup money for your business?
(6) What should one do while working with individual-focused cultures?
(7) Difference between individual-focused cultures and collective-focused cultures.
As the Manager of the Jagnath Chemicals, darft an individual report providing advisability (10)
for opening a sister concern in the Gir Somnath district.
OR

As a General Secretary of college campus, you have been asked to make preparation for
Navratri celebration in your college. Draft a report for the same.
Draft a questionnaire to survey. (Any One)

(10)
(1) Socio-economic background of salesgirls.
(2) Consumers’ preference for a new brand of pain relieving oil.
Read the following share market report and answer the following questions. (10)

Equities recover on speculative support
Mumbai, Feb.4

Equities recovered smartly on the Bombay Stock Exchange (BSE) on Tuesday
following heavy buying by speculators and foreign investors. Reflecting the uptrend, the
BSE sensitive index opened at 3322.04 and closed 2t 3377.63 showing
previous close of 3324.22.

The BSE-100 advanced by 17.40 points to 1476.72. The BSE 200 and Dollex
settled at 327.98 and 152.23 compared with 325.01 and 150.81 previously. The leading

operators from Calcutta were extending support to favourite scrips like Tisco and SBL. The

foreign institutional investors were showing interest in Colgate, Orient Bank and Bajaj
Auto.

Questions:
(1) What is the trend of the market? Why?
(2) How much did the BSE Sensex gain at the end of the day?
(3) What is the previous closing level of the BSE 100?

(4) Which companies did attract FIlIs?
(5) Explain the following terms:

(a) Speculators (b) Serips (c) Operators (d) Recovered,

a gain over the

OR
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ing questions.
Que-4 (A) Read the following share market report and answer the following q

Mumbai, Fcb.22
(UND)

Pharmaceutical and software scrips once again stole the limelfigh; on th; last day of
the current settlement on the stock market here on Friday following fresh purchase by g

as well as buying from operators.

Financial Institutions too were reported to have m.ade good' quantity purchases i,
key scrips like HPCL, SBI, BPCL, MTNL and Steel Authority of India.

The bullish mood of speculators could be seen from fresh buy1.nf5 support e:ven on
the last day of the account when they generally square up their position to avoid high
margin on the carried forward business.

Questions:
(1) Provide a suitable title to the report.
(2) Which companies scrips gain on BSE?
(3) Some scrips were bought in bulk by financial institutions. Name the compames
(4) What the speculators would do to avoid high margms on the last day -of the

account?

(5) Explain the following terms:
(a) UNI : (b) Pharmaceutical
(c) FIIs (d) Stole the limelight

Que-4 (B) Write an essay one the following. (Any One)

(1) Digitalization and the World of Commerce
(2) Goods & Serv1ces Tax-an Overv1ew

*********************



m " BCMbmsCC5020 SeatNo:
il ‘ B.Com. Semester -5 (cBCS) Examination
Oct/Nov. — 2019
BUSINESS MATHEMATICS AND STATISTICS - 1(CORE)

Time: 2:30 Hours Marks: 70
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate full mark of the question.
Ust-1 (a)  usaieit dle@ g7 Astl USIA GELEREL ARyl (10)
(10)

(b) oAell B X 2 Y A HE HAA B.
n = 253%x = 125 Zy = 100 Zx* = 650
Ty? = 460 ¥\ Ixy = 508 ,
wucclsel s2dl walcll Hee 3 A R (8, 12) U (6, 8
Qe o8 B, Al Al Ausrioitt gk,

) oed aetel (6, 14), (8, 6)

el
usi-1 (a)  eudlaRilet suis usktsall At Aol slael wA HAlel WA Ul (10)
) oA W@l uzell 7 AL, (10)
n=73(X-1) =59 Z(Y-2) = 66
T(X-3)2 = 337 Z(Y-4)" = 434
T(X-5) (Y-6) = 216. : : o
L us2 (a) o2 ul@cﬂ wRell A [aam Aot (A U ApHoits 9 a"lttl : o (14)
: v - X
~ | 0.500| 500-1000 | 1000-1500 1500-2000 | .2000-2500
0-200 | 12 16 ST DR -
200-400 | 2 18 4 2 1
400-600 | - 4 7 3 -
600-800 | - 1 - 2 2
800-1000 | - - 1 2 3
(b) Raiet oitsett el weuel. (06)
- ‘ wgcl
i 1;.%{ -2(a) 7 acldlsall 12 Qe HRA Hhc . o 14)
5(X-50) = 45 Z(Y-60) = '
$(X-50)? = 3086 Z(Y-GO)2 = 483
(X-50) (Y-60) = 1095 il
(1) A R doit Al
(2) Y S0l %R X = 50
(3) uouoitls .
(b) R Uit A AsUelt AR dgleld Ul (06)
(07)

ys3 (a) O eestRll HE ARcuastl Al el A WA 5.
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Time: 2:30 Hours

BCMEcoCC5010 SeatNo

B.Com. Semester - 5 (CBCS) Examination
Oct/Nov. - 2019
INDIAN ECONOMY - 1(CORE)

Instructions:

1. All questions are compulsory.
2. Figures to the right indicate marks.

—————————————

UN-1

UH-1
UH-2

Ud-2
ud-3

UH-3
UH-4

UH-4

Que-1
Que-1
Que-2

Que-2
Que-3

Que-3
Que-4

Que-4

RSl vadaRgel e Rl udsi2guett qeel Aoll wedl »idl wlzciz Uuyld
W,
Ul
AR R Yaduet tudla udleRiletl Yeudlof @sAnel 531,
ALAs W ey UALRBL AN Uoit oA,
Ul
CRAA A YSIAs1L Lk dley wAleRed §6 AQ yeuRd 52 87 Aol Ayl .
HRAH Yecduiet Astdlof razu yuend) Aol HIZ FUGER URKA Umondl.

UUal
HRetoll el Qs Wl ooy AR UL,
HRAML ARl 12 yeyoer2 5160 UNox A,

Y
HRAML Hrusla d8l wead o130l &alacleli Guill weud),

ENGLISH VERSION

Give the meaning of business environment and explain in detail its elements in the context of
India.

OR

Analyse current business trends at the global level.

Examine the relationship between income and business environment.
OR

Explain how saving and investment affect the business environment.

Discuss the form and nature of unemployment in India and the factors responsible for it.
OR

Examine the characteristics of developing nation in the context of India.

Explain responsible factors of poverty in India.

OR
Indicate the remedies to remove poverty in India with reference to business opportunities.

*********************

Marks: 70

(20)

(15)

(20)

(20)

)

(13)

(15)
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. Time: 2:30 Hours

647510 BCMacgDS501A SeatNo: _———
' B.Com. Semester - 5 (CBCS) Examination

Oct/Nov. - 2019
AUDITING AND CORPORATE GOVERNANCE - 1(DISC. SPE. ELE -1)

Marks: 70
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
W (A) At usiz ealdl wA sl wedeud UAR 5cl Al @Qotctat uAl 5. (10)
®) qBe stelsu Qaz s2cl cawd A sl Ye kAol A2 (10)
JUTT
YRT (A) ug AWBeot staiel wa ANRgruelell w4 53,
(B) 51285955 Rauell ugRo] Hacctoll uaf 531
HR-2 (A) UARs 2dga N U7 Ass AARL U AidRs vigaol ug@ aeldl. (10)
(B) cGRL A2 g2 aGRoL s2ell cu AR gL HERA A A2 (10)
UYL
H-2 0 (A) AidRs diguc] Mot wA Aol Halerwdell ua 82,
(B) o{lQetle] cGRDL N 3cll 9 5290, (R A Q)
(1) BlRses ua cauegell was (2) el WAl uhell 253

(3) wuR (4) ABe 4
(5) Asel
Ya-3  SUoll B2t 57 UA 5299 weuAl. (15)
Ul
us-3 20l cuastd, Retasd, Rugs wua Yot:AHs BNl suclleuziell Roreusa QU
Ys-4  @selltl cull. (AR A AQL) (15)
(1) sRe alctelodtolt 3 (2) 3sudl s@A AWs
(3) s Hsooll Ul (4) WRe atctoloy M3t

(5) sluRRe dtcleladtoll YA Q(RAA)  (6) sendcl Sles

3 3k ok ok o ok ok 3k ok ok ok ok ok ok ok sk ok ok ok ok ok
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BCMacgDS501A SeatNo: ___—

B.Com. Semester - 5 (CBCS) Examination
Oct/Nov. - 2019

Time: 2:30 Hours

AUDITING AND CORPORATE GOVERNANCE - 1(DISC. SPE. ELE -1)

(1) salRe o[qt:{a-uoﬂ 3 (2) ¥sudl s s

(3) s Hsell Ul (4) s\Re2 dtctelodt W3

(5) ke dlctelottatl HAAQA(RGIA)  (6) &dexdeu Slets

st ok s ok ok ok ok koK ok sk ok ok ok ke skok ok
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Marks: 70
~ Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
i1 (A) Aol usiz ealldl A st wRAA waR 52l ALl @otctarr Al 52, (10)
(B) Bz stlsu daunr sl awd dR sl HeRAl kulotul AA? (10)
ST
YH-1 (A) A AB2ell SlREL AR Rlaelell w53
(B) s122ATNs Raell uglef Hoctoll Ul 53,
us-2  (A) UARS g A2d g2 Ass AL 2 iR 2igael ugl asidl. (10)
(B) BRI A2A g7 cAGRI s2cll cul N sl YgRl tellotl A7 (10)
Bl
Y#-2 (A) AUARS igale] Hecl AR Aoll Halerel uAl 53,
(B) o{lActicf cWGRIDL AN ¥cfl A 590 (AN A Q)
(1) BRses ua carsell s (2) Tl WAl HAcll 251
(3) WR (4) ABe 4
(5) JAsw
ys-3  Suofl 20Berell 655 U §%1 QU (15)
Ul
us-3  BBzell cstd, Resdl, RHgs Aal Yot:Lmgs 21l sucfltniell sotcus weua.
ysl-4 gselle @l (AR A 2AQL)

(15)



Que-1

Que-1

Que-2

Que-2

Que-3

Que-3

Que-4

Y

(A) Describe the types of errors and discuss in detail the errors affecting ¢,
€ trig]
4l

/ \Lda. ENGLISH VERSION

ance’

(B) While preparing audit programme which points will you take jnto consi
on?

OR
(A) Discuss the advantages and disadvantages of continuous audit,
(B) Importance of computerized accounting system.
(A) What is internal check? State the method of internal check for cash sales,
(B) What is Vouching? Which points will you take into consideration while Vouchingy
OR
(A) Discuss importance and demerits of internal check.
(B) How will you do the vouching of the following? (Any Two)
(1) Income from dividend & interest (2) Cash received from debtors
(3) Salary (4) Audit fee
(5) Investmenté
State the rights and duties of 6§mpaﬁy auditor.
| OR
What are the provisions of the‘ companies Act related to qualification disqualification,

appointment, reappointment of the auditor?

Write Short notes: - (Any Three)

(1) Objectives of Corporate Governance (2) Cadbury committee report
(3) Creation of Board of Directors (4) Corporate Governance model
(5) Principles of Corporate governance | (6) Harshad Mehta scam.

sk o o ok ok ok ok ok sk ok o s ok ok ok ok ok ok ok ok
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B.Com. Semester - 5 (CBCS) Examination
Oct/Nov. - 2019 .
FINANCIAL MANAGEMENT - 1(DISC. SPE. EL \arks: 70

Time: 2:30 Hours

nstructions:
l1 All questions are compulsory.

gures to the right indicate marks. e

2. Fi ’ (20)
”"M":fé;au aanctotell valle wR Aot Heti{lsRatetl 3l wmendl.
Lo gl
, i flal AUCtototl yeL-ogel sl Ancl..
gy ot st Ae@ g7 ekt 1o . (20)
uq-z A2 A2 g7 BEAL ARetl LaARUS cecll arostcll BAoUR U AR el dglalcd A
b Al (10)
ysz () atste] Yot:Asieletl SLAEL AU HAERD WA, (10)
(o) Ao dl: B8 AR (15)
use3 bR audl A2 g7 3R wuletl glatel AR HaleRl WA
ys-3 wedl (08)
(1) AU «etisla sldlRaet (S.F.C)
7
(2) q[aa 2w Wl S3AL (U.T.L) A 07}
ys-4  uR¥URs §s Aed gj? WRAURs $soll WA A Aot slLelR AL (15)
vl
ysi-4 ot cull:
(1) Ao R\s WAsUAo (MSE) (©03)
(2) siRaa @a. (07)
ENGLISH VERSION
Que-1  Explain the concept of Financial management and the obiectives of wealth maximization. (20)
OR
Que-1  What is finance function? Explain the different functions of financial management.
Que-2  What is share? Explain the essential elements of equity share and difference between (20)
debenture and share. ' :
OR
Que-2  (A) Explain merit and demerits of plough back. (10)
(B) Explain : Deferred share (10)
Que-3 What are public deposit? Explain advantages and limitation of public deposit. (15)
Que4  Explain: (1) State Finance ¢ i R
t orporation (SFC) (08)
(2) Unit Trust of India T 07)
’ OR
Que-4  What; )
at1s a Mutual Fupd? Explain scheme and benefits of Mutual Fund. (15)
Que-4 Write Short notes: o 08)
(1) National stock exchan
e (NSE 07)
2) Commercial Bjj] SR (

*********************



M BCMmacDS503A Seat No: 5344393
L B.Com. Semester - 5 (CBCS) Examination

Oct/Nov. - 2019
K MANAGEMENT ACCOUNTING - 1(DISC. SPE. ELE -3) Marks: 70
{ Time: 2:30 Hours Alixoe
Instructions:
£ 1. Allquestions are compulsory.
£ 2. Figures to the right indicate full mark of question.

@t cllelt elt. 31-03-2018 AR 31-03-2019 ot Aell A2 oA Yooy B, (20)
FAUGLELIA 31-03-18 |  31-03-19 Reasdl 31-03-18 | 31-03-19

8 Ayl €ds 3. wudl 50,000 | 40,000
1040l Aq 2,00,000 | 4,00,000 ‘
10% ot 1.5 A2 eds 1,00,000 - [ wle 5,00,000 | 5,50,000
3.104 3.8 ARWE
AL Aol 1,00,000 50,000 | Ast30 50,000 70,000
ol.of. Ul 80,000 90,000 | s 80,000 | 1,30,000
1471 WRaldd s2c 150,000 | 75,000 | AgN&4 15000 | 20,000
WA BAeuz .
UAURL GSA elloz GU?R 80,000 [ 1,00,000 | tcuetdl 80,000 75,000
Y8l uRd et - 25,000 | wouGell YsAd . 15,000 5,000
RARA Aol 25000 | 30,000 | Ass —Qos 25000 32,000
UIAWLY, Aolii el | 10000 15000 U@ wal | 1s.000| - 8000
Qos Acl25l82 ' -1 so000f. - 2 ek
ed1gdl 25,000 | 30,000
ARLEIRL 40,000 35,000
YR BRss 20,000 [ 30,000

: 8.30,000 | .9,30,000 8.30,000 | - 9,30,000

- aurtel W@

N Ul wiRtell Roteuse] weet s8R Vgeon A2 53 YRR vret secui wicey

I vl vl 3.1,25,000 YSlurd Aoty U @8 e wde D,
2 NSt Aetetaiiel] SuolR @ A2 wiRd A Al ett 2wt D
| v aui oR a2 wa b,

E 3) A gR0tet SuAlR UB BAeuz A4 50% Bdouz
; U 3UidR 52 D,

4) 31,00,0004l usctz Breial (Rofy U As
U D,

5) 320,000 ofl WY Bactoy 3

6) ¥ 2017-184{| 52Qz; BALKLEL

Busel MRl yrgl %331 vy,

uAs daz 53, - :

Sl L W2
Al ul?, 31-_03-2618«1(
of €35 é.ilo&n Qa },soo o6 22
At uma 3.50,000 B) clle2 3.45,0004 aucuu_i

8 3.5,000 ot otgtell Qe WAe s,
¥ 330,000 Yseta wucy .

YURE ot5l ofsallet uiLd, sielellet 48le UaAs A el yeus
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wudl

us-1 sl el clloll dl.31-03-2018 AN 31-03-2019 ol Aoy ot WAL o2 Yool B,

YAGLELTlA 31-03-18 |  31-03-19 Measdl 31-03-18 |  31-03-19
AR Yl 3,15,000 | 4,20,000 | RAR MeascA(.8l) | 8,40,000 | 9,97.500
AU WeltH el 1,78,500 [ 2,10,000 [ 6llE UUIR “2,41,500 | -304,500
ol.of.ullq 63,000 78,750 5,98,500 | 6,93,000
48l et 10,500 | As(al 1,05,000 84,000
10%ell BAeuR 2,10,000 | 1,47,000 | talell 1,50,000 | 2,00,000
AQER 80,000 90,000 | %5 63,000 70,000
elgsl 20,000 30,000 | Agllgsl 40,000 46,000
Al ysAad waf 26,000 16,500 | Ass 41,000 30,500
53R RS 94,500 89,250 | WUMs wi 21,000 10,500
YR BQes 31,500 37,800
A&l YsAct BR.s - 4,200

10,18,500 | 11,34,000 10,18,500 | 11,34,000 |

atRlell MR

1) ad e32e 3.52,50000 UsAR Buctoll NAs @2 Retsd (Fell UR AN UAA YU
3.22,050 8) d 3.26,250 ui AU qAA B,

2) UG adell AR RLUE 3.99,750 ST HAA B,

3) 30% BAeUR 3.103 oll @A Ul SRAUM] 2L D, :

4) o e120et Jecus A5 oglell Auani el d u o8l HS| et v ¥l 53¢ g,

5) «ll.31-03-2018 il A% oll ¥s UsdLHAL 20% A Bu QA B AR dll.31-03-2019
ol A%l 25 UsA BHA 2det B, &5 uscz Bud awtettell Sucllell yauel .

6) 3.14,7004{l (Bucoll @Az Metsdl Retl Uz YRYRA LU HYl cUdet B QA Hiscun s t
udl 8.

7) 542 3.94,500 Y$AA &dl.

AR s3A: (1) %3d wid. (2) yuda ot8lef UAs (3) stelellet Hglof uats (4) eiSlayets uas

YH-2 g X oll U 2otoll BAUES M2 Ul YHIRLA MU MLotoll (Qatet o0 oyt B,

Hadt A 300 sl BA €ls  3.1000 ad
HAdMt B 400 sl BA s 3.501 U
HEA ¢ 500 sl BA s 3601 i@

A6 As st WU €126 A X ol 100 eotof GeUleat & A oflA yopoy el WA AU

Y2,
HANMA A 3520 20 €lg 3.9,000 AW
HIA™IHLof 4221 2 €ls 36,000 AN
HAMHA ¢ 5320 2o dls 3.7,000 AW

ARl 52l;
1) HEAH W Qucoq
3) HEAAMe ayRie Qe

2) HIAUHIo eltet Qucto

4) HIAAHot M3t Qo
Y
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Y-z

A5 crefell Glleat i A Ael B WM A Y5IRA HEt AUt U2 B, o[l Aol 2uRell Guciots D

HIAUHLot Yyl vRuR
slal eud 3. 2wy 3. slal eud 3. 28u 3.
A 600 10 6000 500 11 5500
B 900 12 10800 700 13 9100
1500 16800 1200 14600
oloUs 10%  -150 -100
1350 16800 1100 14600
a1gLddl s2A:
1) HEAUHLet el [ARjAAeL - 2) HEAUHet R RQucet
3) MMt A3 Quctst 4) HIA AMLet USAR (AUt

As Lot 30 sAUSAHT Y&T scllell B. 2l Rt U ASAc SIHEIN YHIBld GitllBL/ YU AMY
Usallds MRl €2 U WRUR SIHELRG{l vl dal YsAdt 1Rl €2 oA Yol D,

SIHER USIR Y@ VRUR
SLHER AuAl MUyl €k sIMER vl ugI €
520 150 60 140 70
Y gan 90 40 60 50
(et H2in 120 30 160 20
UL Aol 32 vsaSlauni yul . '
218l ?l s3: |
1) 1%3l UsdR ([Qauctet 2) U3l €2 [Auctat
3) UyR st Qucet -~ 4) ugR stladdl [Qudst
yeell
(Al WRA As stutellHl cddg P oll A5 AsH Cletlelell AsAct sHE 26l B.
SLHELR YUSIR YHIRlA

salsl  HxRl €R

sAN 10 6
yHgam 8 3
[@etgan 32 0.5

AL AHAo] WIWR Geuleat 2000 AsHef & Bott HE A AHA U 1y €2 oA Y B,
siuele uste  cllc scudl  uxdl € ’

san 18000 7
utgan 16800 1.5
@otgan 70000 0.4

ABLAZ 53

1) 13l UusclR @Quctet 2) 13l €2 Quctst

3) HyR sttt [Quctet 4) 1R Bst [Quctst
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Ust-4 - AsalRll el of A coj QUL ejsN 7000 VA 9000 AsHof &f AUA 3.10000 efsallel gy 310000
o§l AUeisN wAA B. AsH €ls AW B 3.100 B.
AHR QLA sctedl B,

1) RAR w ofl 251

2) Age @
3) 3.50,000 el ot§l sHlcl Al 3Rl AU AsH

us-4 - s3eu el Q ysiRell cire] Geuteot 53 D P1 wd P2, @ I ol Aol HBA yird w B,

Que-1

4) AR AL 10,000 AsH A A2 YD 20

5) A QAR BHdni 10% atdl s2cuni 2 Q atq unde (olg

WAL
@atct
QU Bud 3.
A AU 3.
UAsH €l6 HYR SELd)
5CUS Els Ul 3.
AR QARAURWA (u5dlouy)
56 RAR wal 3.200000

P1 P2
600 400
200 160
25 5CGls 10 SCUS
4 4
100% 100%

SLHER scllsl HAlR A ® UR suo{lo] YUl aY Beuteet atdll P1 oll 1500 WS AUA P2 ol 2000

AsH B UA Ayl dy GUELY SIHELR 5G5Sl 37500

53

Following are the Balance Sheets of Shiv Ltd as o

M.

ENGLISH VERSION

n 31-03-2018 and 3 1-03-2019

A AR ALl ay osisiks Geulget Mgy ofsd]

Liabilities 31-03-18 | 31-03-19 .. Assets - 31-03-18 31-03-19
Equity Share each of Rs.10 2,00,000 | 4,00,000 Goodwill ’ 50,000 | 40,000
10%Redemable Pref, Share “Plant 5,00,000 5,50,000
each of Rs.10 Rs.8 paid up 1,00,000 : -
General Reserve 1,00,000 50,000 | Investments 50,000 70,000
Profit and Loss A/C 80,000 90,000 | Stock 80,000 1,30,000
14% Convertible Debentures 1,50,000 75,000 | Bills Receivable 15,000 20,000
Provision for depreciation on Debtors 80,000 75,000
plant 80,000 1,00,000 :
Capital Redemption Fund 25,000 | Prepaid Expenses 15,000 5,000
Provision for Tax 25,000 30,000 | Cash and Bank 25,000 32,000
Bad Debt Reserve 10,000 15,000 | Preliminary Expenses 15,000 8,000
Bank Overdraft 50,000
Bills Payable 25,000 30,000
Creditors 40,000 35,000
Proposed Dividend 20,000 30,000
. 8.30,000 | 9,30,000 8.30,000 9,30,000
Additional Information:

1) During the year Company has redeemed the preference share at 5% premium after complying with the
provision of the Companies Act. For this purpose an amount of Rs.1,25,000 has bee transferred to
capital redemption reserve from general reserve, '

2) The Company has issued one bonus share for two equity shares held from capital redemption reserve.
31-3-2018 is the recorded date for issuing bonus share.

3) During the year Company has converted 50% of debentures into 7500 Equity shares of Rs.10 each.

4) A Plant costing Rs.1,00,000 (accumulated depreciation on this plant is Rs.50,000) was sold for
Rs.45,000. . ¥

5) Aninvestment having book value Rs.20,000 was sold at a profit of Rs.5,000

6) Rs.30,000 paid for tax liabilities for the year 2017-18 ' '

From the above information prepar

working capital and fund flow statement.

¢ riecessary accounts, Adjusted Profit and Loss Accoun

Page 4 of 6
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OR
Following are the Balance Sheets of Shri Hari Ltd as on 31-03-2018 and 31-03-2019. 20)
Liabilitics 31-03-18 31-03-19 Assets 31-03-18 31-03-19
Share Capital 3,15,000 4,20,000 | Fixed Assets at cost 8,40,000 9,97,500
General Reserve 1,78,500 2,10,000 | Less Depreciation -2:4],500 -3’04’500
Profit and Loss A/c 63,000 78,750 5.98.500 6,93.000
Capital Reserve 10,500 | Investments 1’05:000 ,84,000
10% Debentures 2,10,000 1,47,000 | Debtors 1,50:000 2 00’000
Creditors 80,000 90,000 | Stock 63,000 70,000
Bills Payable 20,000 30,000 | Bills Receivable 40,000 46.000
Unpaid Expenses 26,000 16,500 | Cash 41,000 30,500
Provision for Taxation 94,500 89,250 | Preliminary Expenses 21,000 10’500
Proposed Dividend 31,500 37,800 ’
Unpaid Dividend 4,200
10,18,500 11,34,000 10,18,500 11,34,000
Additional information:
1) During the year a part of fixed assets costing Rs.52,500 (accumulated depreciation Rs.22,050) was sold
for Rs. 26,250.
2) Rs. 99750 is provided for current year depreciation.
3) 30% of Debentures are redeemed at Rs.103
4) Some of investments are sold during the year and profit is credited to capital reserve account
5) Stock on 31-3-18 was valued 20% less than its cost. While stock on 31-3-19 is valued at cost. It is
policy of the company to record the stock at cost.
6) A fixed assets costing 14,700 which is fully depreciated is written off during the year.
7) Income Tax of Rs. 94,500 is paid. :
Prepare : (1) Necessary Accounts (2) Statement of operating profit
(3) Statement of Working Capital (4) Fund Flow Statement
The standard material cost to produce one tonne of product ‘X’ is (20)
300 Kgs of material A @  Rs,10 Perkg
400 Kgs of material B @ Rs,05Perkg
500 Kgs of material C @ Rs,06Perkg
During a month 100 tonnes of product X were produced from the usage of -
35 tonnes of material A Atacostof Rs.9000 per tonne
42 tonnes of material ' B  Atacostof Rs.6000 per tonne
53 tonnes of material C  Atacostof = Rs.7000 per tonne
Calculate:
(1) Material Cost Variance (2) Material price variance
(3) Material usage variance (4) Material mix variance
' OR :
In the production of a product two kinds of materials A and B are used. Following information is available 20)
Material Standard Actual
Kgs Price | Amount | -Kgs Price | Amount
Rs. Rs.
A 600 10 6000 500 11 5500
B 900 12 10800 700 13 9100
1500 16800 1200 14600
Loss 10% -150 -100 :
1350 16800 1100 14600
Calculate :
(1) Material Price Variance (2) Material usage variance
(3) Material mix variance (4) Material cost variance as)

A job is to be completed in 30 weeks. The standard composition of workers engaged on the job with weekly

wage rate and actual workers and weekly wage paid are as follow.

Standard Actual

Category
No.of workers ~ Weekly rate per worker ~ No. of workers ~ Weekly rate par worker
Skilled 150 60 140 70
Semi skilled 90 40 60 50
Unskilled 120 30 160 20
The job is completed in 32 weeks.
Calculate :

(2) Labour rate Variance
(4) Labour Efficiency Variance
OR

(1) Labour Cost Variance
(3) Labour mix Variance
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Que-3

Que-4

Que4

duction of
Following is the information about labour employed in a f‘nctosrz'n lf"%l;:l;c pro
S Hours  Wageratc Rs.
Skilled 10 g
Semi skilled 382 os
Unskilled : . Socii6m.an
Actual production during the period was 2000 units. Time taken for the produ
below. .
i Category Hourstaken ~ Wage rate per hour Rs
Skilled 18000 175
Semi skilled 16800 0-4 s
Unskilled 70000 .
You are required to calculate: .
(1) Labour Cost Variance (2) Labour rate Variance
(3) Labour Efficiency Variance  (4) Labour mix Variance

one unit of product ‘P’

d wage rate are stated

. ; .10000 and.earn
Advani and company sold in two successive year 7000 anq 9000 units and incurred a loss of Rs —
Rs.10000 as profit respectively. The selling price per unit is Rs,100

Calculate;
1) The amount of fixed cost
2) Break—even point '

3) Sales in units and ruppes to eam a profit of Rs.50000
4) Margin of safety when sale is 10000 units
5) New break — even point if selling price increases by 10%

OR ¢ -
Karuna Ltd. Manufactures two products P1 and P2. Following information is obtained relating to the products.
Particulars A i . Pl . P2
Selling price Rs. 600 - 400 -
Direct material _ Rs. 200 160
Labour hour required per unit 25 hrs 10 hrs
Wage rate per hour Rs. 4 4
Variable overhead (% of wage). - 100% 100%
Total fixed cost. Rs.200000 ’ '

Labour hour is in short supply and production wbaci
‘P2’ and the maximum labour hours available are
- produced to get maximum profit?

37500, then how many units of each

***************************
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B.Com. S Seat No :
. - Sémester - 5 (CBCS) Examination
c Oct/Nov.- 2019
. OMPUTER SCIE -
Time: 2:00 Hours Nk 3 S(ELECTIVE . 1) ks: 50
Instructions: Mats:
1. All questions are compulsory.
2. Figures to the right indicate marks.
ys-1 ollAoll Ysloll el e,
(1) Qoflod uRu2t 2 iy Qo UGRAA celd, (4)
(2) [ollat Mudlos, Ausat uA 8z agqL (4)
(3) Qb 5Qet ettat 2uucsll ug@ agia, (6)
UYL
ya-1 oflQetl Yot eveliod @ul.
(1) QUL @il aela, (4)
(2) gt sy celdl, (4)
] (3) 8 5Qetell s weset avld, . (8)
us-2 o{lQell usell wellol Al (12)
(1) Alignment, Enable, locked, Caption Wudlos cieldl.
(2) Appearance, Visible, Font, Back color W\UZ[% aela.
AUl
yst-2  ollQAotl Yslloll oscllo Ul " (12)

(1) 'Interval, Style, Word Wrap, Window State Alignment, Enable, locked, Caption Wl
aglal.
(2) List Index, Icon, Text, Tab Stop WUZ[23 cleld.
ys-3  ollAoll Ysllell wellol AUl (12)
(1) Fore Color, List, Picture, Sorted WU el
(2) Multi Select, List Count, Index, Print WUl agldl.
Yl
ys-3  oflAett Yol ellol Al (12)
(1) Tex Box dcitlld AR Nudl»s aslal.
(2) List Box doitlld AR Ausy aglal.
ys-4 oflAstl Yslotl wellol AUll. (12)
(1) S et uoitlld AR Ausy asldl.
(2) $2lct olzet Aoitlld wR Sz aglal.
wYall

Y4 ol Aetl ysloll ol AUl (12)
(1) 5HloS ol2at deitlld AR Ausy aglal.

(2) ollAoll cdAstalct AUl
(1) Enabled A Locked  (2) Border Style el Back Style
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Que-1

Quest

Qug-2

Que-2

Que;3”

Que-3

Que-4

ENGLISH VERSION

Writes answer of following questions. e
o ) ons.
(1) Give Introduction of VB and describes 1t’s edill

(2) Describes Properties, Events and Method in VB
(3) Describes method of naming of controls of VB
OR
Writes answer of following questions.
(1) Describes Property Windows
(2) Describe Tool Box
(3) Describes Life Cycle of form control
Writes answer of Following questions
(1) Describe Alignment, Enable, locked, Caption properties
(2) Describe Appearance, Visible, Font, Back color propetties
OR

Writes answer of following questions.

(1) Describes Interval, Style, Word Wrap, Window State properties.

(2) Describes List Index, Icon, Text, Tab Stop properties
Writes answer of following questions.

(1) Describe Fore color, List, Picture, Sorted, properties.

(2) Describe Multi Select, List Count, Index, Print properties.

OR

Writes answer of following questions.

(1) Describes any Four properties of Text Box control

(2) Describes any Four methods of List box
Writés answer of fbllowing questions

(1) Describes any Four methods of Form control

(2) Describes any Four events of command button contro]

OR
Write answer of following questions

(1) Describe any Four methods of command buttop control
(2) Writes difference of the following
(1) Enabled and Locked

(2) Border Style and Back Style,

o

i a

@
@)
©
(12

(12)

12)

(12)
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BCMac5EC501A Seat No:_334US73
B.Com. Semester - 5 (CBCS) Examination

Oct/Nov. - 2019
ACCOUNTING - S5(ELECTIVE - 1)

Time: 2:30 Hours Marks: 70

Instructions:

1. All questions are compulsory.
2. Figures to the right indicate marks.

ys-1 (A)

yd-1 (o)

Ud-1 (A)

(o)

(5)

Yd-2 ()

ASR8R2 AR L1l Yet, 2019¢t A% 3.1,00,0000fl 97ell u2stdl %2042 3,964t (10)
el - U WA B, causr afui A iz 31l weel wA 300 WBrci2ett Ao ygad
8. 2llotolRell WAL uedl yamauz udet cutesell 2umelle 2, wA Asigl vicicudlui
Aell ol o,
AsIASR UEH dlL1cll %et, 201901t Ao 3.1,00,00000 9%oll w2518l HllotolA2D 3.964  (10)
U cauly-eie WR B, cautes i A cuz 311 uil wuA 303 ABroizett A YsaA B.
ARl WA uedl yunar HAA el ulelld Wl 1A Astel vidadldi Aol
AAlt WLl
Ul
UotY cll.1-11-2018¢ll A% 3.2,00,0000{l 12%0(l U513 3{lot20dl 3.95¢1 eud Wilel AU (05)
1%l ectell ysell. cuy 31l e wuA 304l wBroizeti Ao uaeust i B, widsl
wHAY AUl
A2l WA 9%efl U8 2 lotollA &cll, Bett Uz 303l AN uA 313l WsAoReAl A% (05)
e Ysad 8. eclell 12 AR agladl .
dAiflw | yo Bud | €2 3. olly
1-7-2018 | 90,000 | 98 | calles U el caues oite Wilel
GURell cActsl M2 %33 UHA UL
ollAoll 1Bl uell 1.31-08-2018 A ll.31-12-201801l A% HAA %ol wHAY Q. (10)
(1)

Aflu | etdls Bud 3. | eud 3. | ectell R
1-4-2018 5,000 - - | 3ol cusl
1-7-2018 (?) 98 1% | wilel
1-11-2018 5,0000 110 1% | <l Gl AIRL

(2) ezl dtdlu 304l AR, 313 212 ua 313l BRArorR
(3) cll.01-07-2018¢li A%oll catciglefl AU oA yosot wnaAly &l

Asiel vitd  G.14,472

cales wld G. 375

A Aot vt 14,847
(1Al R uell st wlel Qe )
(1) el g1l atgactell udl 3.5,000 (2) Bl §8lell wutzell cudl 3.7,000 (3) 2l &8lott
yseal 3.8,900 (4) WIlE HE URd 3.1,200 (5) A3lclolt ARIEID 3.6,000 (6) el
AgLeL? 3.4,000 (7) AGLELR Yseall 3.30,200 (8) Ass W 3.25,800.
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000, Gz AU 38800, UM g 3,00

ys-2 (@) Ass wAA 21,500, Ass AR 3.2 st wAid A

0%.
w3 #18 3.1,250, Apel £2 ABA U2 2
wuhdl
yne2 (u) ellell Rl uedll 9kl ;
QL (3) Qmg
(1) AAct Micell usAe (2) Ml b R
g 15 315,000, Mzl ¥ 3.20,000 wdlél 3.55,000. 8L AR AUGa] 2 4

o1 el s e 2t} 2018041 ad wd titie] 5 alvej el Al

us-2 (W)
avefl sizutaen el 3.1,25,000
adett ud Talel 3.2,00,000
adell nizuidui Agllgdl
el 2q AlESl 3.25,000

a e2Rauet 3.20,000 azia Wl &dl Ua 310,000l tictut datae] y4
edl. 2aieid adl 3.4,0000 W ysedl edl. ay el Becl 28l M Gurz Jaz)
el Auizll 10% oot et ud el edl. Avyf Gz AU AU Ass Ay ey

MR 31 o, a e:Rate 2arerd wddl 3.3,60,000 ALSL HEAL &el.
ys-3 W Aectell U @oidl fAefl Wl duad suuai W B, W dedall w@s g |

USAR UR 25% o8l suiaal Hiotdl du A AQ &S WA o] g eus A8l d €4,
(1) s wour aills 3.1,25,000.
(2) ustetell Bud 3.5,50,000 Fetl UR s 4% AW UURL Qe B,
(3) et WHA 3.1,50,000¢t B. Betl U2 a5 15% AN UWRA ARl B, ' ;\
(4) AQ 5¥¢U 3.7,00,00041 ASIG U 10% % ARl B, |
(5) llorofl wUR ez w2y 8: A wed 1R 3 AsiAcll 23 A el wal |
HRs 3.65 wa B, ward Wil g5 Rauouni wa B, yad I wnd uR3aA
AsiAcll Aa A 3uls WRs war Wil 3.30 U,
(6) el eAsAA wou: L@ 3.5, w1 wIR EMs Q2 YsauA B Ad ¥ ¥R
AsAA A R ¥ 3uett seell waBaud 22 B, €35 3HEls N5 o152 D,
(7) et vl ol yyu B,
HSleto] AMIRSIN al¥s 3.15,000
wRyRel Wil s 3.13,100
UidRs Yoot 6 s 3.15,000
(8) lectil 150 34 B U Goucuni A AY) o, M HRAC 2@ B, v} Rauaed
50% 3 eR1A| 22 B,
QL B Y Gl R Rudl B, dy Well . HRottolt Mt (e 30 agl.
Uyqy
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UH-3 ()

Ud-3 (W)

ud-4

As Azctoll oflAoll Rl uzell Aot PRl o1l 532, e €25 310 Rauéls (08)

g 2,

3Mell divay

Astalel 2sicudl
UEollotl Ra

oll SLHBLYelL URoll
el et w3l

ot§lofl WA SR UR 50%

150
80%
30
12

3.86,40,000

Aol WRA uell €25 wyedls g g otsfl s A guual,

As Il R2-R e
A 3 R2-Ra
AY 3ol RY2-Ra)
§C AUSLell a5

As Iuoll W2ef g A Fuoll 2 5l 2/3 eldl F2¢] el O FHoll 2] CUg,

51,300
22,800
9,300

3.62,46,000

ARL FHoU Rl eUst sl % ool R 2.

(07)

As e A, ol AR 5 0L yBauliel vz we d U RAUR GLE Aol dlR HHell RS (15)

uld Frela B, yBal 2 of Geuteet Joieell Brd uR 25% o5t AR yBul o WA AR
uBaAL 6l dal 5 of Geutest €350l Joutecll Bitel WR 20% oist AR Y2l A B,

cll.31-03-2018ell s ol Aell MR Nencteuni vucll,

@t yBau A | yBa o | yBa s | dur el ¥\s 3.
A3ucloll 2 10,000 | 12,000 | 8,000 30,000
Yedal HIA™IHLe 20,000 | 21,000 | 30,000
yeugl Hy3l 15,000 | 15,000 | 16,000
sRullotioll W& Wl | 14,000 | 6,000 | 40,000
VMR WS 5,000 | 6,000 | 4,000 15,000
AZAllctoll s U --| 2,000| 2,000 11,000
AUldYB2Ulo ot§l

YBael s YUMs uscRetl NRAQ sl wUA B. dar wetsll ¥As yBay s Hidl |
Bua Aactari 20 8 A Bud auisard wda B, dar wetoll Aol 25 3.4,00,000
B, u? Aaz s2cloll B, (1) Ul uildl AR dar Metsl Rse] wid, (2) WuR Aade

ol olel.

UYL
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Yd-4 (A)

Ust-4 (o)

Que-1 (A)

Que-1 (B)

Que-1 (A)

(B)

©

As Ref A, ol uA 5 21Q YBaueAbiol uuR w B UA AR ole AX AR Uity U

uld data 8. €35 uBaa cotel Rl o112 Yol 8.

L Qatd Eullcl o8 3. | Allctoll 25 UR ol 3. | VRl RA8 UR o) 3.

Lu@au A 72,000

| uBat o 2,43,000 12,000 - 3920
yla s 1,70,000 16,800 41,390

Eaue HICe s 1,48,000 60,000 56.4_69_

VRUR ol§l 4,

UBA A ofl MR o1 yevey B, (0

A W] 3.10,50,000

S USAR 3.8,50,000

§C o8 3.2,00,000

UUR X8 3.73,500

ULReAL RAsH otdl HAC oA L.

AC~ ENGLISH VERSION

An investor ‘Amit> bought on 1% June, 2019, 9% Government securities of Rs.1 ;00,000 at (10)

Rs.96 Cum-int. Interest is paid twice in a year, on

31* march and 30% September. Give

journal entries for purchase and also for first interest received and posting in Investment

Ledger.

An investor Padam bought on 1* June, 2019, 9% Government securities of Rs.1,00,000 at (10)

Rs.96 Ex-int. Interest is paid twice in a year, on 31

march and 30" September. Give journal

entries for purchase and also for first interest received and posting in Investment Ledger.

On 1-11-2018 ‘Anam’ purchased 12%
paid 1% Brokerage.

OR
Government
Interest is receivable on 31

Securities of Rs.2,00,000 at Rs. 95 and (05)
March and 30™ September every year,

write journal entry for purchage.

“Yash’ held 9% Government Securities

on which interest is paid on 30% April and 31% (05)

October. Brokerage is 1%.

Date Face Value Rs. [ Rate Rs. Remarks
1-7-2018 90,0% 98 | Cum and Ex-interest Purchase

Write the journal entries of the above Purchase.

From the following information

give Journal entry regarding interest received on 31-8-2018 (10)

and 31-12-2018 respectively.

(D

Date Face Value Rs. [ Price Rs, Brokerage Remarks
1-4-2018 5,000 - - Opening Balance
1-7-2018 €)) 98 1% | Purchase
1-11-2018 5,000 110 1% | Ex-interest sale

(2) Data of Interest; 30T
3) Following journal entry was

April, 31% August and 319 December,
Passed in his books regarding transaction on 1-7-2018.

Investments A/C Dr.14,472
Interest A/C Dr. 375
To Bank Account 14,847
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Que-2 (A) Find out the total purchases from the following particulars. (12)
(1) opening balance of B/P Rs.5,000
(2) Closing balance of B/P Rs.7,000
(3) Paid for B/P Rs.8,900
(4) Purchase returns Rs. 1,200
(5) Opening creditors Rs.6,000 (
(6) Closing creditors Rs.4,000
(7) Payment to creditors Rs.30,200
(8) Cash Purchases Rs.25,800
Que-2 (B) Cash Purchase, Rs.1,500; Cash Sales Rs.2,000, Credit Sales Rs.8,800, Closing Stock (08)
Rs.750; Opening Stock Rs.1,250; Rate of profit on cost 20% Find out Credit Purchases.

OR
¢ Que2 (A)  From the following information find out. (08)
1. The cost of sales
2. The gross profit
3. The amount of sales
Rs.
Opening Stock 15,000
Purchases 55,000
Closing Stock 20,000
Gross Profit 20% of Sales
Que-2 (B) Find out net total sale of the business for the year 2018 on the basis of information given (12)
below:
) Debtors at the beginning of the year Rs.1,25,000
Debtors at the end of the year Rs.2,00,000
Bills receivable at the beginning of the year -
Bills receivable at the end of the year Rs.25,000

During the year Rs.20,000 discount was allowed and bad-debts were Rs. 10,000. Expenses
of Rs.4,000 were paid on behalf of the debtors. During the year 10% of the goods sold on
credit was returned. Ratio of net credit sales and cash sales was 3:1 Rs.3,60,000 were
received in cash from the debtors during the year.

Que-3 The following information of the business of ‘Om Hotel’ is given to you. If the owner of the (15)
hotel wants to earn 25% profit on cost, what rent should be charged from his customers?

(1) Staff salaries Rs.1,25,000 per annum.

(2) Cost of building Rs.5,50,000 rate of depreciation 4% p.a.

(3) Other equipment Rs.1,50,000 on which depreciation is to be charged at 15% p.a.

(4) Interest at 10% is to charged on investment of Rs.7,00,000 made by him.

(5) Lighting and power expenses are as follows: the normal lighting expenses for a
room is Rs.65 if it is occupied for the whole month. Power is used only in winter
and normal charge per month if occupied of a room is Rs.30.

(6) Room attendant’s salary Rs.5 per day. The salary is paid on daily basis and services
of room attendant are needed only when the room is occupied. There is one room
attendant for one room. =

(7) Other expenses are as follows:

Repairs to building Rs.15,000 per annum
Sundries Rs.13,100 per annum
Interior decoration Rs.15,000 per annum

(8) There are 150 rooms in the hotel and 90% of the rooms are normally occupied in
summer and 50% of the rooms are busy in winter. You many assume that period if
summer and winter is six months each. Normal days in a month may be assumed to

be 30.
OR
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Que-3 (A)  From the following information calculate room-d

Que-3 (B)

Que-4

Que-4(A)

Que-4(B)

ays of One Hotel. Also calculate daily rep (08)

for cach room.

Number of rooms 15?
Occupancy rate ;%E)M

No. of days of a month 5
No. of working months in a year .
Total cost for the year Rs.86,40,000 \
Margin of profit-50% on turnover

J
From the following information calculate what rent should be charged for each type of (07)

suites.

Single room days Rs.51,300
Double room days Rs.22,800
Three room days Rs.9,300
Total room rent receipts Rs.62,46,000

Rent of a single room is to be fixed as 2/3 rent of doglblc room suite and the rent of the
double room suite and the rent of the double room suite as 3/4 of the rent of three room
suite. .

One product passes through three processes A, B and C and thereafter it is transferred to (15)
finsiged stock account. Output of process A ios transfereed to process B at 25% profit on the y
transfer price and output of process ‘B’ and process C each is transferred at 20% profit on

each transfer price. The following information is recieved in respect of the year ended on |

31st March, 2018.

Particulars Process-A Rs. | Process-B Rs. | Process-C Rs. | Finished stock
Rs.

Opening Stock 10,000 12,000 8,000 30,000
Direct Materials 20,000 21,000 30,000 -
Direct labour 15,000 15,000 16,000 -
Factory overheads | 14,000 6,000 40,000 -

\
Closing Stock 5,000 6,000 4,000 15,000 : ])
Inter-Process Profit !
Included in| - 2,000 2,000 11,000
opening Stock

Stocks in process are valued at prime cost. Finished Stock is valued at the price at which it
is received from process C. Sals amounted to Rs. 4,00,000. You have to prepare:
(1) Process Accounts and Finished Stock Acoount.
(2) Actual Realised Profit
OR
One product passes through three process A,B and C and then after it is transferred to (19
finished stock account. The following information of each process:

Particulars Appartment  profit | Profit in opening | Profit in Closing stock Rs. !
Rs. Stock Rs.
Process-A 72,000 R -
Process-B 2,43,000 12,000 4,920
Process-C 1,70,000 16,800 41,390
Finished stock | 1,48,000 60,000 56,460
Calculate Acual Profit,
The followin information of Process A: (09)
Total Expenses  Rs. 10,50,000
Total Cost Rs. 8,50,000
Total profit Rs. 2,00,000 )
Closing Stock  Rs. 73,500

Find out Unrealised profit in closing stock.
KRk ok ok ok ok ok ook ok sk o ok o
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